Efficiency vs P,

~ 0.7

1.0

Ratio

e

a E :

L 0,00+ re i R R

oy E :

5 0.08;— ----------------------- ........................

2 0.07F - reereireeeeeeen SR J A

(0] - :
0.06;— ----------------------- PRPPPT A
0.0f +++reereieneeeenes e bi,
0.04F -+ PR SR | SR
1Y SYRCOROR RUSOR SRN | ¥ SR
(Y7 O ARSI SO Y .1 S
0.01 £ 30 I

o
©
a

=

o
iN

A

0 18 el

IC{HP ggd..n{vmu. +6p0evt
ﬁégé %%igﬁ 1RO TLIERS 1000evt

—ehoC

11111

©.045F- -+ -cieeeeeedoenefo bbb
00.04;_ ...... O Y P S Ut S
J0cic SNSRI
0.03F -++ewieereesis;
0.025f b eeenies
0.025 -+ R
0.015F -+ :
0.01 -+ lit--- At -HHE
0.005F -+
P T 1| T AP T I A
o s :
3 5 ]
o L |
1_— ------- ?n - i E 3 -
3 2 -1 o0 1 2 3

s 0.5

LTLT SRR ORISR SN SRS Nt
e = U SR S
c0.08 - st st fes A
ko) E: : : : : :
%) Froennes s e beeeens
2‘E0'07:: : : : : :
© E: : . : : :
O Rl L AR U
T Res S IS B S
R S AR A €
008 oo Bl et i

0,02ty oot
oottty

1.9

Ratio

=

WL L g g === = =

0.95

3 2 1 o 1 2 3



	Contents
	Page 1


